K SO RVPSIW P I 5 RPRNCHCY KW S S e

Gop oK “' b oesCs )\S’ )\.‘.‘é o gl Ko "' J'

u")y'CJ"'

658 Sl 58 gl dy baks &l

NISOC p: (.%‘*%Gﬁ’g o=
S 6,102 0 9l o Seals S8 (5
:Q‘»«:-g a)L»l Typical Instrument Installation Drawing
1 L .
053-073-9184 05sz |6 [ plo] g | w2, [Swps| S | s 28 511 samdo o)l
BK PPL PETCO 320 IN DW 001 D00

oy vy ad g sl al s cn s o b

TYPICAL INSTRUMENT INSTALLATION DRAWING

S 15 o hee w5 Gl l 5 e g

IFC: Issued For Comment

IFA: Issued For Approval

AFD:
AFC:
AFP:
AFQ:

IFl: Issued For Information

Approved
Approved
Approved
Approved

For Design

For Construction
For Purchase

For Quotation

AB—R: As—Built for CLIENT Review
AB—A: As—Built — Approved

DO1

D00 JUN.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

REV. DATE PURPOSE OF ISSUE/STATUS PREPARED BY: CHECKED BY: | APPROVED BY: CLIENT APPROVAL
CLASS: 4 CLIENT Doc. Number:F2J—708590

STATUS: IDC: Inter—Discipline Check




K COVNNETURRN RSN P ) I R SR g

658 Sl 58 Sl Oy Lok olasl
IR LC I CRC CUUI LOEN N L€

NISOC p @G‘“@ =
S 65150 0 3215, olSanlee S8 [i5
toben ol Typical Instrument Installation Drawing
053-073-9184 05sp |6l e faS ol odes | @, (S| Jbo | oo B 5tz ke ol
BK PPL | PETCO [ 320 IN DW 001 DOO
REV. DOO | DO | D02 | DO3 | DO4 | DO5 REV. DDO | DO1|DO2 | D03 | D04 | DO5

PAGE PAGE

1 X 26

2 X 27

3 X 28

4 X 29

5 X 30

6 X 31

7 X 32

8 X 33

9 X 34

10 X 35

11 X 36

12 X 37

13 X 38

14 X 39

15 X 40

16 X 41

17 X 42

18 X 43

19 X 44

20 X 45

21 X 46

22 X 47

23 X 48

24 49

25 50

REFERENCE
I.SPECIFICATION FOR INSTRUMENTATION

BK-GNRAL-PEDCU-000-IN-SP-0001_DO03

S INSTRUMENT & CONTROL SYSTEM DESIGN CRITERIA
BK=PPL-PEDCO-320-IN-DC-0001_D01




K SO RVPSIW P I 5 RPRNCHCY KW S S e

m 658 Slale 58 gl dy) bols & las!
NISOC o3 B! b S 5 L8 s oKl !

S 6,10 0w 9y, ol 58

1ol okl Typical Instrument Installation Drawing
053-073-9184 5n |68 am |l O | w2, | Sueps| Jm | e 28 5103 remdools
BK PPL | PETCO | 320 IN DW 001 | DOO
TITLE SHEET NO.REMARKS
<SUPPORT & STANCHION TYPICAL DETAIL>
PANEL MOUNTING/PIPE MOUNTING 04
PANEL MOUNTING BRACKET/PIPE MOUNTING BRACKET 05
SUPPORT AT GROUND LEVEL (GENERAL PURPOSED 06
SUPPORT AND INSTALLATION DETAIL FUOR INSTRUMENTS (FOR TwWO INS.S) 0/
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR THREE INS.S 08
09
IRON SHEET CUTTING FOR SUNSHINE 10
<JUNCTION BOX TYPICAL DETAIL>
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREAD 11
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 12
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 13
JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREAD 14
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 15
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 16
<CABLE TRAY TYPICAL DETAIL>
CABLE ROUTE MARKER POSTS 17
INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX 18
INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS 19
CABLE TRAY SUPPORT c0
TYPICAL METHODS 0OF TRAY SUPPORT cl
CABLE TRAY SUPPORT ee
CABLE TRAY SUPPORT 23




S o ol Wl Gl 5 e lagG 05, @‘
= Y Tk N

m’ 58 ol 58 Jlol dg) bshs & las! PEDCO
‘5._3)‘,0 o\i:...._g'b&uu )\g )L:A o gl Oli?....:' )' HIRGAN ED
NIS0C S 6510 2 00 9ty sl S8 @ b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
053-073-9184 I e e R B e 2 B 2 5T 4 ke o)l
BK PPL PETCO 320 IN DW 001 D00
PANEL MOUNTING

@ BOLTS FOR PANEL

G MOUNTING

8| Pgme—— o
il

| \“
BOLTS FOR TRANSMITTER

o MOUNTING & 3
e

PIPE MOUNTING

2", U-BOLT FOR PIPE
MOUNTING




S i o las adg Sl s g 055 @‘
= Y Tk N
m’ 58 ol 58 Jlol dg) bshs & las! PEDCO
o, 5ot U s 58 L cues ot 5t HIRGAN
NISOC o0 - =D J X ad = J ENERGY D
&Hl-g)‘bﬂo)&»'jlolx&\.yujls @ b
:O““.‘.-i a)\MZ Typical Instrument Installation Drawing
053-073-9184 0552 [ oS plo| Mg |ty [ S ps| S [ s 23 515 eseo)ls
BK PPL PETCO 320 IN DW 001 D00
PANEL MOUNTING BRACKET
BOLTS FOR PANEL
MOUNTING

PIPE MOUNTING BRAC

KET




K COPE I KVAI PN 7] JPRCRA KK Gy g

m’ 658 Slle 58 Jan! Wy boks &last PEDCO
NISOC éﬁ)f O&L__f' G &u:.» )\§ )L:A o gl Ol.i?...::' )' ‘ggl%%é%\(] ED
S 5510 0 08 9l oWealn 56 C/ b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
053-073-9184 05sp |6l e faS ol odes | @, (S| Jbo | oo 28 516 ke o)l
BK PPL PETCO 320 IN DW 001 D00

WELDED

250

1600

- g

FOR IDENTIFICATION

Is

WELDED

TRANSMITTER

B8
PN
LB

9099,

N
V]

1600

WELDED
WELDED @
4-HOLES ¢14 4-HOLES g14 = 5
FOR BOLTS M12/NUTS FOR BOLTS M12/NUTS
< 7
2 B PUTF & - @
T T £ Rt >
250 \. STRUCTURE v
350 250 !
400 350 i
FRONT VIEW FRONT VIEW o
CODE DESCRIPTION SIZE QTY. MATERIAL
01 |PIPE 2"% 1.6m CARBON STEEL
02 | CAP 2@ 1 CARBON STEEL
03 | STEEL ANGLE L 50x50x6t 0.65m | CARBON STEEL
04 | STEEL CHANEL UNP100 (100x50x5tx7.5t) 0.8m CARBON STEEL
05 | BASE PLATE 350x350x10t 1 CARBON STEEL
06 | BOLT & NUT M12x30L 4 CARBON STEEL H.D.G.




S CNEE RN IR ] RPRCEA KV S P Q‘
Q 2o ke R
m’ 658 Slle 58 St Wy bohs &las! PEDCO
NISOC éﬁ)f o\i:....l' G &u:.» )\§ )L:A C;u’.;.l Oli?...::' )' ‘ggl%%é%\(] ED
S 6,150 0m axly , Keals 568 Q b
:O““.‘.-i a)\MZ Typical Instrument Installation Drawing
053-073-9184 I e e R B e 2 B 2 5T T ke ol
BK PPL PETCO 320 IN Dw 001 D00

SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS

WELDED
500 |

7
-4
/®

[
s Q
a = < .
g S—/// i8] ul //
SIDE VIEW
- WELDED
0
™,
i I
| O N / s o
&9 @
I i
4 HOLES w12 ™
o CHANNEL BASE & FDN DETAIL
L (BOTTOM VIEW)
Z
4 HOLES 912
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 2 Piece
3 PIPE, SCH 40 (L:400mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL 2 Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




K COPE I KVAI PN 7] JPRCRA KK Gy g

m’ 658 Slle 58 St Wy bohs &las! PEDCO
NISOC ggg)_)s 0\5:;..g' G JS:Jig j\fr ‘)L:é o gl OlS:Jﬁj? ! B ! “£¥§§%é¥ f::::%%%?
S 5510 0 08 9l oWealn 56 C/ b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
053-073-9184 05sp |6l e faS ol odes | @, (S| Jbo | oo 2 5T 8 ke o)l
BK PPL PETCO 320 IN DW 001 D00

SUPPORT AND INSTALLATION DETAIL

WELDED

NS

AN

WELDED

WELDED

4 HOLES 212

WELDED

SIDE VIEW

250

[

- 7a 2

FOR INSTRUMENTS

/

4 HOLES 912

35

CHANNEL BASE & FDN DETAIL

(BOTTOM VIEW)

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. | UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 3 Piece
3 PIPE, SCH 40 (L:1000mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL 3 Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




S CINEE IR TNR ISR | RPRCEI KV SRS PR @‘
& o5 Y I N
m’ 58 ol 58 Jlol dg) bshs & las! PEDCO

NISOC ‘5._3)‘,- O&L__f' G &H—P )\g )L'."A o gl OL{L.::' )' ‘ggl%%é%\(] ED
&ug)‘bjo*»'ﬁ,u&w\isz b
:Q‘»«:-g a)L»l Typical Instrument Installation Drawing
-1 s .
053-073-9184 05sz |6 [ plo] g | w2, [Swps| S | s 28 519 samdo o)l
BK PPL PETCO 320 IN DW 001 D00
FRD FLAT COVER

REFER COVER DRAWING
FOR DETAIL

SEE COVER CLAMP DETAIL

w

CONTACT MOULDED TYPE FLAT COVER
RECOMMENDED: ONE CLAMP FOR EVERY 1.5M

ﬁ, M8 THREADED HOLE

FOR SS316 HEXAGON BOLT
b4 M8 X 10 & SPRING WASHER
/@

%% Rewmﬁu%%&er of 3 meter
VER CLAMP DETAIL-SS316

(CC-SS)

CC-SS

LADDER TYPE| H Wi| t A B REMARKS

LH 1563 | 32 | 20| 42 15 | W2=200,300,400,450,600




S CINEE IR TNR ISR | RPRCEI KV SRS PR @‘
Q Y Ik =
m’ 58 ol 58 Jlol dg) bshs & las! PEDCO
PRI LGN B NG GOV LA B S 925 ot 5t HIRGAN —)
NISOC o0 - =D J - = J ENERGY [am)
S 6510 0 0wty el 56 @ b
:Q‘»«:-g a)L»l Typical Instrument Installation Drawing
053-073-9184 I e e R B e 2 B 28 5110 ramie o)l
BK PPL PETCO 320 IN DW 001 D00
Weld
450 i i 400 i
? | Lot
= | g NBIEE
i ¢ [
- @ @ i OO Instrument
o110 ]: |
Stanchion (2" Pipe) |
@ o) ‘

N
al
o) \/
.
@® § 100 [
I © g
<
o]
Fig. 1
SUNSHADE MANUFACTURED AT SITE BY INSTRUMENT INSTALLATION CONTRACTOR, 400
FROM 2.31 MM THICKNESS CARBON STEEL, MOUNTED WITH 2" SIZE U-BOLTS, NUTS AND
WASHERS, ALL SHARP EDGES TO BE REMOVED AFTER CUTTING AND WELDING THEN
PAINTED. .
Development of Fig. 1
CODE DESCRIPTION SIZE QTY. MATERIAL
03 STEEL ANGLE L 40x40x2.31t 09m CARBON STEEL,SCH40
09 U BOLT & NUT WITH SPRING WASHER FOR 2" PIPE 2"@ 1 CARBON STEEL




S i olas a5 il 5 et lags 05 @‘
Q 2o ke R
m’ 658 Slle 58 Jan! Wy boks &last PEDCO
éﬁ)f O\i:.--__ﬁ'b&au:—t )\§ )L:A C;u’.;.l Olii....nu' )' HIRGAN ED
NIS0C S 6510 2 00 9ty sl S8 @ b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
053-073-9184 0552 [ oS plo| Mg |ty [ S ps| S [ s 23 51 ool
BK PPL PETCO 320 IN DW 001 D00
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREA)
~—— TO BE DETERMINED AT SITE —
@ 3
JUNCTION BOX B
=
)
g
fa) ~
o ~
5 >
w o
% o
(@]
P
QK 04| § E
. - /
JGL SEE DETAIL "A /)
4,

TN T I
250
180
‘<—>‘ Aﬁk 10
o
&
215

DETAIL "A”

ITEM DESCRIPTION SIZE MATERIAL QUgN'RE UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
2 EQUAL ANGLE 50 x 50 X 5t CARBON STEEL 2 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 5 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6 .5mm 100 x 50 X 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CARﬁODNéTEEL 8 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARaODNéTEEL 4 Piece




S CNEE RN IR ] RPRCEA KV S P @‘
Q 2o ke R
m’ 658 Slle 58 Jan! Wy boks &last PEDCO
éﬁ)f O\i:.--__ﬁ'b&au:—t )\§ )L:A C;u’.;.l Oli?....:' )' HIRGAN ED
NISOC S 8,155 0 9ty , o Keals 58 @ b
:O““.‘.-i a)\MZ Typical Instrument Installation Drawing
053-073-9184 0552 [ oS plo| Mg |ty [ S ps| S [ s 23 51 ool
BK PPL PETCO 320 IN Dw 001 D00

JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)

TO BE DETERMINED AT SITE
L'J_J JUNCTION BOX JUNCTION BOX
5
oy
< 250
~
8 L LN 10
§ ? ﬁ /.>® ' | =
] o i 4
= &
[ gy J
y —® 74% A;L g
= 7 \, Z 15
9 8 o Z/ ‘ o Z/ DETAIL "A” o
SEE  DETAIL "A” /@)
a /ey ey ) (D\ )
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6 5mm 100 X 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CAREF[;\‘GSTEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARE'OS\'GSTEEL 8 Piece




K COPE I KVAI PN 7] JPRCRA KK Gy g

m’ 658 Slle 58 Jan! Wy boks &last PEDCO
NISOC ég)f O&L__f' G &u:.» )\§ )L:A C;u’.a.l Ol.i?...::' )' .ggl%%é%\(] ED
o 6,15 08 a1y, Kol 56 C/ b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
053-073-9184 0552 [ oS plo| Mg |ty [ S ps| S [ s 23 5118 ool
BK PPL PETCO 320 IN DW 001 D00

JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)

TO BE DETERMINED

AT SITE

L'LJ JUNCTION BOX JUNCTION BOX JUNCTION BOX
5
o
<C
a <
w N~
o |
- i i i i
i ]
EC)
o5 RE)
o3
m Q)\
e EE:|
SEE DETAIL "A” (D\ f
250
H&H —H—10
TR A
g I
Ip]
ad
7’*%* 3%(’ =
@15
DETAIL "A"
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6 5mm 100 x50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CAREF[;\‘GSTEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARE'OS\'GSTEEL 8 Piece




K COPE I KVAI PN 7] JPRCRA KK Gy g

m’ 658 Slle 58 Jan! Wy boks &last PEDCO
NISOC éﬁ)f O&L__f' G &u:.» )\§ )L:A C;u’.;.l Ol.i?...::' )' ‘ggl%%é%\(] ED
o 6,15 08 a1y, Kol 56 C/ b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
053-073-9184 0552 [ oS plo| Mg |ty [ S ps| S [ s I
BK PPL PETCO 320 IN DW 001 D00

JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREA)

—+~ TO BE DETERMINED AT SITE =
w JUNCTION BOX
W
%]
-
<
[a] <
L ~Ny - e
z
= ﬁ P ﬁ
e ~
o -
8 S
" i ®
° \EXi R I=
SEE  DETAIL "A” K
5 ‘o ) £ a1l 1 NE (i
AT e 11 SRR é CONCRETE. BLOCK(SEE. NOTE 2 TR
; “,A" v Lo I PPE e «
s T s o s eooe
R t s 250 Setae
R75% TSN TR Z 180 N
‘ ‘ 4Hk 10 300
\r T0_BE DETERMINED AT SITE { T ‘ ‘ . P—ﬁ
T
&
L*%% %* &
T T
@15
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
2 EQUAL ANGLE 50 x50 x 5t CARBON STEEL 2 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 5 Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL 8 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL 4 Piece




K COPE I KVAI PN 7] JPRCRA KK Gy g

&8 Slle 58 Sl Wy bghs &l
Gy 3 Kot b &Gy 58 las cyi oKt !

NISOC C.gg%%@; =
S ol o o1y, Keale 58 b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
-1 s .
053-073-9184 05sz |6 [ plo] g | w2, [Swps| S | s 28 5115 samio o)l
BK PPL | PETCO | 320 IN bW 001 | DoO
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)
TO BE DETERMINED AT SITE
L'J_J JUNCTION BOX JUNCTION BOX
@
=
<
[a] ~
L N~
w |
= ? ﬁ P=e
i ]
- o
w o
Qg —0®
% Q)\
e | Slled [od?
SEE DETAIL "A” /@)
2 ) 2 £ ®\ & i
‘ 2 o % bipe . “ P S’J:P\PE ’
£ B 4 LA H YL T, ~~——CONCRETE BLOCK(SEE NOTE 2)
% a 44 . : v f a . . ,
41 ; “ P P 9 y . 7, 250
} T0 BE DETERMINED AT SITE { !&! »H« 10
O L H
IR I
Ip]
[qV]
7% %ﬁ’ H
@15
DETAIL "A"
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ |yt
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12x100L | CARBONSTEELHD.G| 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL H.D.G 8 Piece




Q u"Jy'CJ‘—"

K COPE I KVAI PN 7] JPRCRA KK Gy g

&8 Slle 58 Sl Wy bghs &l
Gy 3 Kot b &Gy 58 las cyi oKt !

NISOC p (‘%%1; =
&Hl-g)‘bﬂo)e.\."jlolx&\.}wjls b
:Q‘»«:-g 0)\4»; Typical Instrument Installation Drawing
1 L .
053-073-9184 0552 [ oS plo| Mg |ty [ S ps| S [ s 23 5016 o)l
BK PPL PETCO 320 IN DW 001 D00

250

JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)

TO BE DETERMINED AT SITE

L'J_J JUNCTION BOX JUNCTION BOX JUNCTION BOX

@

=

<

[a] ~

L I~

P4

- i i T r®

& ]

- o

w o

o 5 —0®

% Q)\

= S| [od EXli

SEE  DETAIL "A"
5 < A & & A & & A K & =4
< 4 o AA . < . - 4 a . . : P j P j S ) . <
o ) ¢ 3 PPE . o TS PR, @ j 3 PPE e
E 4 “ N g “ S . M i . A T N
} T0 BE DETERMINED AT SITE _‘[
250
!J@H —H-—10
4% A% :
g5
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7

1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12x100L | CARBONSTEELHDG| 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL H.D.G 8 Piece




S I PR R PRI SRS P @‘
Q u")ytc-la" N
m’ 658 ol 58 Slact dg) bshs & lus! PEDCO
N  EL B R TR L U gAY ==
NISOC S 515 0 45, o\aale 5 @ (15
Q\W O)L»-l Typical Instrument Installation Drawing
053-073-9184 532 [ s oS plo| Mg |ty | Smpn| Jbm | o 23 ST 7 emieo)l
BK PPL | PETCO | 320 IN W 001 | DOO
CABLE ROUTE MARKER POSTS
Q0
= — CONCRETE OR ()_(NOTE 1)
R FINISHED GRADE ASPHALT PAVING _
iy NA \ \ SO2) ! — )
3 I
™
I TTe
| |
B

250
70
S0

T INSTR. CABLE®
‘ SIGN "C”

‘ 250

TYPE "A" UNPAVED AREA TYPE "B" PAVED AREA

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT

1 CABLE ROUTE MARKER SIGN (SUS) 1 Piece

2 BOLT AND NUT WITH 1-SPRING. 2-FLAT WASHERS (SUS) M6 x 25L CARBON STEEL H.D.G. 4 Piece
TR 3 STEEL CHANNEL WHITE COLOR PAINTED 120 x 55 x 5t STAINLESS STEEL 1 Piece

4 ROUTE MARKER POSTS 1 Piece

1 CABLE ROUTE MARKER SIGN (SUS) 1 Piece

2 SPACER MORTAR 1 Piece
TYPE"B"

3 MASONRY ANCHOR WITHOUT STUD-M6 1 Piece

4 ROUND HEAD BOLFTOVF‘Q",\TA':\;;)SE S'YNfNé‘{%QT WASHER (SUS). M6 x 251 CARBON STEEL H.D.G. 4 Piece




Sy o olign 35 gl 515 el 05 @‘
Q u")y'CJ‘" N
m’ 658 ol B slast dg) bshs &las! PEDCO
NISOC &P Olf.?.«.ﬁ' G s‘.{.a.u )\f )L:& S gl oli:....:' )' .EI{I%%%}I;I Eﬂ
i 613 0 Sl ool 5 @ IS
Q\W O)L»-l Typical Instrument Installation Drawing
053-073-9184 532 [ s oS plo| Mg |ty | Smpn| Jbm | o 23 5118 emieo)l
BK PPL PETCO 320 IN DW 001 D00

INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX

MULTI CABLE

JUNCTION BOX

NON. HARDENING SEALING COMPOUND

BUSHING

APPR. 1500

-X_CONDUIT PIPE

SEE DETAIL'A”

wljnes
I

DETAIL"A”

SAND FILLING

RIGID STEEL GALVANIZED CONDUIT

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. 15 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. 0.8 Meter
3 BUSHING 3" CARBON STEEL 1 Piece




S o ol s Gl 3l 5 e lag o5 0

m 58 ol ,)'@JLE;J dy bos &lus! PEDCO
G2oP o&ww'b&u)\f )L‘lé NPV oli:....g' j' HIRGAN ——)
NISOC SR AT @ =
2 Sy 08 My 0 )
Q\MJ c)L;.L Typical Instrument Installation Drawing
053-073-9184 o532 [ oS plo| g |l S ps| S | e 23 5119 ramioo)ls
BK PPL PETCO 320 IN Dw 001 D00

INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. 15 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. 0.8 Meter
3 BUSHING 3" CARBON STEEL 1 Piece




S CUNEF IR IR 5 RPRCEA KV Sy P

m <58 ol ,)'@JLB.UI dy bohs &lus! PEDCO
&2y p O&Mw' (GRS e )\f Sled s oliz.._:' )f HIRGAN —)
NISOC . ' ' L (€ (‘ENERGY /ZG
S Sold oty , OK“‘, B}
Q\M c)\»l Typical Instrument Installation Drawing
-1 L .
053-073-9184 o532 [ oS plo| g |l S ps| S | e 23 5120 ramio o)l
BK PPL | PETCO [ 320 IN DwW 001 D00
CABLE TRAY SUPPORT
/\X/\X/\E s T
eoe || 0 EE
T8 D%D
T 0
| (TYPICAL)
wvy AAY -
@ N 18mm DIA. FOR 16mm BOLTS
& s
- CONCRETE WALL NOTE 1 ( : 1~ ™M gl g
XX ) O
200
VIEW "A”
250

SUPPORT TO CONCRETE WALL

NOTES :

BASE PLATE (TYPICAL)

1— SIZE & NUMBER OF TRAYS TO SUIT QUANTITY & SIZE OF INST. CABLES.

= | No.| SIZE IN

g REQ | MILLIMETER DESCRIPTION MATERIAL REMARKS
1 - 40x40x6mm ANGLE,EQUAL MILD STEEL

2 — 6x100mm BAR,FLAT MILD STEEL

3 B 6mm BASE PLATE,STRUC.QUALITY,250x200mm MILD STEEL

4 - 200mm CABLE TRAY WITH COVER GALVANZED STEEL

5 - 16mmx115mm | FOUNDATION BOLT (RAWL BOLT) MILD STEEL

6 - MBx20rmm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL

7 - 8mm WASHER, ROUND FLAT GALVANIZED STEEL




K COVRNE TR RS PR ) I R SIS g

@,

m’ 658 ol 58 Sl dy) beas & las! PEDCO
NISOC RSB DlSJ.-..o»' G &.;.o )\S )L:& P 0&2.._3' )' .g&%%é%\{] EG
&H&)"J:’°JC‘4"3/QK“‘L:—‘JK C/
:QL‘»{g-j c)L\,.Z Typical Instrument Installation Drawing
-1 o .
053-073-9184 O e e el Bt N L B 28 Sl Rl ko)l
BK PPL PETCO 320 IN DW 001 D00

TYPICAL METHODS OF TRAY SUPPORT IN

TYPICAL 90° CHANGE IN

DIRECTION OF CABLE TRAY

—

WELD

=
—= 1=

—(2)
.

TYPICAL

100

VIEW "A”

)

WELDED _—"1

(TYPICAL)
= | No.| SIZE IN
=2
2 |REQ |MILLIMETER DESCRIPTION MATERIAL REMARKS
1 — 40x40x6mm ANGLE,EQUAL MILD STEEL
2 - B6x50mm BAR,FLAT MILD STEEL
35 | — 10x250mm MOUNTING STRIP Ss.
4 - 70mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 — 70mm RISER,UNIVERSAL,INNER BEND 90 WITH COVER GALVANIZED STEEL
[} — 70mm RISER,UNIVERSAL,OUTER BEND 90" WITH COVER GALVANIZED STEEL
7 — 70mm BEND,SECTIONAL WITH COVER GALVANIZED STEEL
8 — M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVINAZED STEEL
g — 8mm WASHER, ROUND FLAT GALVINAZED STEEL




.. - - i " A é. -
S 2 ol ads Sl Bl 5 s lago o35 @‘
m’ 658 Sl 5 Slact dg) bshs & las! PEDCO
= z . . =z
Gy ot b &y 58 Las cu i ot 5t HIRGAN —
N}[SOC . . ' ' \-u 'lf ‘ENERGY E
&'-A-'...&)Q;.’%C:'*’ﬁxo\-i“k ) C/
:QL‘»{g-j c)L\,.Z Typical Instrument Installation Drawing
- e .
053-073-9184 O e e el Bt N L B 28 sl ez ko)l
BK PPL PETCO 320 IN DW 001 D00
CABLE TRAY SUPPORT
A*’ rH \il
18mm DIA. FOR 16mm BOLTS WELD,
@’ @ @/ ]
=3
“r 1
gl & £
&) o) (TYPICAL) 54
200
250 %
() 5
(@]
<
@ T WELDED
NO. OF TRAY X 8
1 500mm
2 900mm
3 1300mm SUPPORT TO CONCRETE CEILING
NOTES :
1— ALL DIMENSIONS IN MILLIMETER UNLESS OTHERWISE STATED.
2— X & Y LENGTHS TO BE DETERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.
E No SIZE IN DESCRIPTION MATERIAL REMARKS
= |[REQ |MILLIMETER
| — 40x40x6mm | ANGLE,EQUAL MILD STEEL
2 | — 60x60x8mm | ANGLE [EQUAL MILD STEEL
3| — 6mm BASE PLATE,STRUC.QUALITY,250x250mm MILD STEEL
4 — 500mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 — 16mmx50mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL
5 | — MBx20rmm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL
7 = Smm WASHER, ROUND FLAT GALVANIZED STEEL




.. - - i " A é. -
S 8 ol Wy Gl 315 w2 gl 055 2 @‘
m’ 658 Sl 5 Slact dg) bshs & las! PEDCO
= z . . =z
RSB DlS.L...o“' 4 &.:.o )\S )LZS [GIpY-X oli:....:f )' HIRGAN —)
NISOC S o ol 5 @’ [
2 Sy R0, >y 0 )
:Q\of;-j c)l».l Typical Instrument Installation Drawing
- ; 3! tasis o,
053-073-9184 O e e el Bt N L B 2350 R e,
BK PPL PETCO 320 IN DW 001 D00
CABLE TRAY SUPPORT
( : ) 1 * - T
1T
WELDED 2
Q
1= Q
i 1
é £ (TYPICAL)
ol ™ L]
f=4
) :
O L
WELDED 8
+
@\u L1 \
[@) ~
O,
P L A S
SUPPORT TO STEEL STRUCTURE SUPPORT TO STEEL COLUMN
NO. OF TRAY X NO. OF TRAY X
1 500mm 1 500mm
900mm 2 900mm
1300mm 3 1300mm
NOTES :
1— ALL DIMENSIONS IN MILLIMETER UNLESS OTHERWISE STATED.
2— X & Y LENGTHS TO BE DETERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.
E No.| SIZE IN DESCRIPTION MATERIAL REMARKS
£ |REQ [MILLIMETER
1 40x40x6mm | ANGLE,EQUAL MILD STEEL
2 60x60xBmm | ANGLE ,EQUAL MILD STEEL
3 6mm BASE_PLATE,STRUC.QUALITY,250x250mm MILD STEEL
4 500mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 200mm CABLE TRAY WITH COVER GALVANIZED STEEL
6 | - 16mmx50mm | BLACK BOLT & NUTS,HEAVY SEREIS STEEL
7 MBx20rmm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL
8 Brm WASHER, ROUND FLAT GALVANIZED STEEL




	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)
	BK-PPL-PEDCO-320-IN-DW-0001Typical Instrument Installation Drawing Model (1)

